HISTORY AND GOVERNMENT – 311 

FORM THREE
TIME: 2 HOURS

MARKING SCHEME
SECTION A
ANSWER ALL THE QUESTIONS IN THIS SECTION.

1. Define the term archaeology    (1 mk)
· It is the study of man’s material culture and remains of early man.                    1X1
2. State two theories that explain the origin of man (2 mks)

· Traditional theory /mythical theory
· Evolution theory / Darwinism

· Creation theory                                              2X1

3. Who invented selective breeding during the Agrarian revolution in Britain? (1 mk)

· Robert Bakewell 
4. Name the African community that represents the river lake nilotes in Kenya. (1 mk)

· Luos 
5. State two functions of the council of elders among the Agikuyu. (2 mks)

· Settled disputes
· Presided over religious ceremonies

· Welcomed visitors

· Negotiated peace settlement

· Warned of an impending epidemics

6. Identify two earliest mission stations in Kenyan coast. (2 mks)

· Rabai
· Ribe 

· Jomvu

· Sagala 

7. State two limitations to the rights and freedom of movement of citizens in Kenya. (2 mks)

· Outbreak of a contagious disease
· When a curfew is declared

· During war and specific areas entry is banned 

· Security areas like schools, barracks. Training sites/ private property

8. Other than Trans – Saharan trade, name the other regional trade. (1 mk)

· Long distance trade

9. Identify two examples of traditional forms of water transport.(2 mks)

· Raft
· Boat

· Sailing ships

· Logs

· Canoes

10. State two uses of bronze in ancient Egypt (2 mks)

· Making weapons
· Making tools

· Making ornaments

· Making artistic items

11. State one challenge facing London today. (1mk)
· Poverty

· Rural – urban migration

· Poor housing

· Crime levels are high

· Unemployment

· Air pollution  
12. Give two functions of saza chiefs among the Buganda. (2 mks)
· Maintained law and order
· Settling disputes

· Collected taxes

· Guarding land

· Advised Kabaka

13. State two factors that determine the form of a constitution. (2 mks)

· Racial composition
· Historical background

· Religious composition

· Geographical factors 

14. Name one way in which direct democracy is exercised in Kenya. (1 mk)

· Recall
· Referendum

· Initiative

· Plebiscite 

15. Why was Egypt strategic during the scramble and partition of Africa? (1 mk)

· Suez canal shortened the sea route to India, far East and linking Europe to Middle East 

16. Name the chartered company that administered East Africa on behalf of Britain. (1 mk)

· Imperial British East African Company
*Do not award abbreviations IBEACO. 

17. Name the first missionary who represented the Africans in the LegCo. (1 mk)
· Dr. John Arthur / Dr. Arthur.
SECTION B. (45 marks)
ANSWER ALL THE QUESTIONS IN THIS SECTION.

18(a). State five importance of rock art to the early man (5 mks)
· Painting pictures of the animals they hunted would give them greater success in hunting
· Man believed by drawing; he would magically have a control power over their prey.

· They drew animals pieced by arrows to show what they hoped to kill

· Painting showed keen observation of animals for life

· To preserve their culture

· To draw as part of leisure time.

(b). Describe five ways in which Homo erectus attempted to improve his way of life in the middle Stone Age period. (10 mks)
Moved out of forest and started living in warmer areas

Started living in caves/ rocks for security 

Started making garments using animal skin

He invented fire which was used to cook

He developed speech to communicate with others

He improved tools, Archeulian tools
He created leisure activities like rock painting
19(a). Name three main sources of energy before the industrial revolution. (3 mks) 

Wood 
Wind 

Water
(b). Explain six reasons why industrial revolution began in Britain. (12 mks)

· Availability of capital to set up factories and expand the industries
· Availability of banking and insurance which supported industrial growth

· Availability of variety of raw materials to use in industries

· Availability of best navy who protected their merchants 

· Availability of good means of transport and communication. 

· Availability of both skilled and unskilled labor who worked on their industries

· Availability of cottage industries which provided the needed experience

· Political stability which encouraged investors in Britain

· Availability of ready market at home and abroad.  

20(a). State five methods used by colonial government to obtain African labour for settlers’ farms. (5 mks)

· Use of master servant ordinance which made it an offence for any African evade duty
· Low wages so that African must depend on selling their cheap labor to settlers farms

· Forced recruitment of laborers to work in settlers farms by chiefs

· Native registration ordinance which enforced   registration of all adults male Africans to allow labor recruitment.
· Creation of reserves that were overcrowded, therefore Africans left to work in settlers farms

· Use of kipande system to curb desertion of duties

· Northey circular where chiefs were to encourage Africans to work in setters farms

· Squatters system – to keep African stay in settlers farms

· Cash crops – Africans were not allowed to grow any cash crop.

· Application of taxation to ensure Africans work to get tax 

(b). Explain five factors that led to migration of Africans to the urban areas during colonial times. 
(10 mks)
· Overcrowded unproductive African reserve that had poor living conditions

· Towns had better social services and amenities e.g. Health and education

· Imposition of taxes on African in rural areas to avoid paying
· Towns had better infrastructure like tarmac roads, which gave people a better life

· Widespread poverty in rural areas therefore they had to move to town

· African traders wanted to take advantage of markets in the towns

· Towns provided employment opportunities like clerks and interpreters 

SECTION C (30 marks)
ANSWER ALL THE QUESTIONS IN THIS SECTION.

21(a). State three communes in Senegal where assimilation policy was applied (3 mks)
· St. Louis 
· Goree

· RufisQue 

· Dakar

(b). Explain five reasons why assimilation policy was not successful in West Africa (10 mks)
· Rigid culture among West African people therefore difficult to abandon it.
· French just wanted the colony for economic interest therefore assimilation would inhibit them exploiting African.

· European Frenchmen feared that assimilated Africans would be equal to them

· It was too expensive to apply assimilation.

· Resistance from traditional rules who didn’t want loose their powers.
· Strong resistance from the Muslim against the French 

· French citizens in France feared the assimiler would outnumber them in the lower house  
· Despite assimilation, the French discriminated Africans by treating them unequal

· French school just wanted to convert Africans in to Christianity

· It didn’t last long to civilize the Africans

· Rise of African nationalism.

22(a). State three national holidays in Kenya as per the 2010 constitution of Kenya. (3 mks)
· Madaraka day
· Jamhuri day

· Mashujaa day

(b). Explain six merits of democracy. (12 mks) 
· Interests of citizens are paramount because elected leaders cannot ignore their people
· It fosters unity among the citizens 
· It promotes good governance as leaders are answered to their people

· Promotes good relations between rulers and the citizens

· It advocates for respect of other people’s rights.

· Promotes international harmony

· Enhances patriotism in a country.                       6X2 = 12
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